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1. (25%) HEE

a. PREERFHETMGE (oblique central impact) 1 - WHRATHHES) - G R4 (AR 7
(1294)
b. [MRREELH? (6%)

c. {HEREEIEEIEAAR (inertial coordinate system) » {-+FRH 2T BiF ka4 © (7%

2, (25%) Three spheres, each of mass m, can slide freely on the smooth, horizonta! plane.
Spheres 4 and & are attached te an inextensible, inelastic cord of length 7. Knowing that 4

and B are at rest and the cord is slack (#£9th) when C (with initial velocity vy strikes B.
Assume perfectly elastic itnpact between B and (.
a. Find the velocities of three spheres immediately aftor the cord is taut (B85, (20%)

b. Find the percentage of energy loss. (5%)

@

3. {25%) The bob of a simple pendulum of length { = 800 mm is released from rest when 8=35°,
Assuming simple harmonic motion,
a. determine 1.6 s after release the angle 6, {12%%)
b. the magnitude of the velocity and acceleration of the bob. { 13%)
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4. (25%) The thin ring has a mass of § &g and is released down the inclined plane such that it
has a backspin w=8 rad/sec and its center has a velocity vg=3 m/sec as shown. If the
coefficient of friction between the ring and the plane is 4=0.6, determine how long (in sec)

the ring rolls before it stops slipping. (t% T % M A2 ARBA2 ¢ » WL L BT X T A MMH
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-\\m = § rad/sec
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